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Run 4605 quartetwise, Asyms0 (Raw): All
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Run 4605 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4605 quartetwise, Asyms0 (Raw): Beam OFF

-5 0

10

15

quarebwise_bsamd asyrb
Entrigs 65508
Mean -0.02436
Std Dav 2.085
1 1 | 1 1
20

HelNSamples0)/|PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 23.191339)

3500

3000

2500

2000

1500

1000

500

0

Run 4605 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4605 quartetwise, Diffs0: All
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Run 4605 quartetwise, Diffs0: Beam ON, Laser ON
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Run 4605 quartetwise, Diffs0: Beam OFF
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Run 4605 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 4605 quartetwise, NegHelAccO/NSamplesQ: All
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Run 4605 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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Run 4605 quartetwise, NegHslAccl/NSamples: Beam ON, Laser OFF
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Run 4605 quartetwise, PosHelAccO/NSamplesC: All Run 4605 quartetwise, PosHelAccO/NSamples): Beam OFF
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Run 4605 quartetwise, Sums0: All
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Run 4605 quartetwise, Sums0: Beam ON, Laser ON
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Run 4605 quartetwise, Sums0: Beam OFF
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Run 4605 quartetwise, Sums0: Beam ON, Laser OFF
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